(3) -

1/4" ® MACHINE BOLTS W/3/4" ¢

WASHERS THROUGH CARRIER BEAM AND POST

/—(AHR“ZR BEAM

@ @ O

<> 1" X 2" MEMBER

//' FOR SCREENING

POST

HORIZONTAL BEAM

-1—-"! 1
=

(12)-
{2 ROWS OF (6) FOR

ANGLE EACH SIDE

(6) - #10 X 3/4" SMS

#10X 3/4" SMS (EACH SIDE)

RECEIVING CHANNEL
DR [6) BACH ANGLE)

TYPICAL BEAM TO POST DETAIL

(3) 1/4"® MACHINE
BOLTS W/ 3/4" 0
WASHERS THROUGH
CARRIER BEAM AND
POST

‘ARRIER BEAM

1"X 2" MEMBER
FOR SCREENING

10X 1-1/2" SMS @
24" 0.C, (MAX)
CONNECTING

' X 2" TO CARRIER
BEAM

10X1-1/2°SMS @

SCALE:N.T.S.

2" X 2" FASTENED TO CARRIER BEAM
‘WITH (2] #10 X 1-1/2" SM5 INTO

SCREW ROSSES EACH END

ROOF BEAM (SLOPED OR FLAT)
(NOTE USE SIMILAR DETAIL FOR
NOTCHED UPRIGHT CONNECTION

TO CARRIER BEAM

N 2"X2"X0.062°

oA

24" 0.C. (MAX) NOTCH POST AS ABOVE FOR 6X6 POST, ALL CASES,
CONNECTING CONNECT USING MACHINE BOLTS DESCRIBED
1"X 2" TO POST /\ ABOVE.
CARRIER BEAM TO POST
SCALE: N.T.S.

/ ON ITS SIDE (IF REQUIRED)
2" FOR SINGLE

HORIZONTAL BEAM

# * 4 FOR DDUBLE HOR]ZONTAL
\2, X 2" X0.062"
RECEIVING CHANNEL OR

2" § 2" FASTENED TO CARRIER BEAM
WITH (2) #10 X 1-1/2" SMS INTO
SCREW BOSSES EACH END

ROOF BEAM (SLOPED OR FLAT)

(3) 1/4"¢ MACHINE (NOTE USB SIMILAR DETAIL FOR
BOLTS W/ 3/4"@ NOTCHED UPRIGHT CONNECTION
WASHERS THROUGH TO CARRIER BEAM
CARRIER BEAM AND
POST
CARRIER BEAM
1"X 2" MEMBER 2"X 2" X 0.062"
FOR SCREENING RECEIVING CHANNEL
(5) #12 X 3/4" SMS
(TYP BACH SIDE)

#10X1-1/2" SMS @
24" 0. [MAX)
CONNECTING:

1" X 2" TO CARRIER
BEAM

/7

#10X1-1/2" SMS @
24" 0.C. (MAX]

(2) ROWS OF (5)
\_ #12 X 3/4" SMS
POST

NOTE: FOR DOUBLE OR TRIPLE CARRIER BEAM,
DUTSIDE WEBS SHALL OVERLAP 4X4 POST OR

RECEIVING CHANNEL

(5) #12 X 3/4" SMS
(TYP EACH SIDE)

(2) ROWS OF (5)
\ #12X3/4" SMS
POST

NOTE: FOR DOUBLE OR TRIPLE CARRIER BEAM,
OUTSIDE WEBS SHALL OVERLAP 4X4 POST OR

CONNECTING CONNECT USING MACHINE BOLTS DESCRIBED
1"X 2" TO POST /\
TYPICAL CORNER CARRIER BEAM CONNECTION
SCALE:N.T.S.
(4) - 3/8" @ EXPANSION
BOLT WITH 2-1/2" @ [} 2X_SMB
EMBEDMENT (MIN EDGE (SEE SHEETS-2
DISTANCE = 2-1/4", FORSIZE)
MIN SPACING = 2") o e
Py 1 © @ (4)-1/4" 0 MACHINE

(4) - 1/4" @ MACHINE
BOLTS WITH WASHERS
(8 TOTAL PER POST/SMB’

(-] (-] [:]
TOPVIEW
3 X3°X
GENHECTICH) 0125"POST  2X_SMB

(4)-3/8" @ EXPANSION
BOLT WITH 2-1/2"
EMBEDMENT (MIN EDGE
DISTANCE = 2-1/4",

MIN SPACING = 3")

(SEESHEETS-2
FOR SIZE)

STITCH W/ (2)
#12X 3/4" SMS @
12"0.C

"X 3"X0125" ANGLE
(!

NOTCH POST AS ABOVE FOR 6X6 POST. ALL CASES,

™ BOLTS WITH WASHERS

(4)-3/8" @ EXPANSION
BOLT WITH 2-1/2"
EMBEDMENT (MIN EDGE
DISTANCE =3"

MIN SPACING 2-1/2")

(3)-1/4" © MACHINE,
BOLTS WITH WASHERS

' |
& (I MATWIWI Ay
il

Rom ey

TOP VIEW

3" X 3"x0.125" POST

2"x2"x 0,125" ANGLE (EXTERNAL OR

INTERNAL) OR0.125"
(4)-3/8" @ EXPANSION RECEIVING CHANNEL
[ BOLT WITH 2-1/2" ‘
| EMBEDMENT (MIN EDGE L
DISTANCE =3" .
MfN SPACING 2-1/2") |
g = .
i .4 ok 1 :
w 8 2. @ . (min)
; i

Nates:

1. Expansion bolt designs are based on an ultimate tension capacity of 4065 Ib.
2. Minimum edge distance for expansion bolts shall be 3 inches,

FRONT VIEW

POST TO DECK CONNECTION DETAIL

SCALE:N.T.S.

f=st—2" (min)

FRONT VIEW

POST TO DECK CONNECTION DETAIL

SCALE:

NTS.

e

County

Reviewed for Code

Compliance

PRBD20170207106

“\\MMUWMMM

»\@M,n”,onféo%’f/,

K.
SHEELEY
AROO10564e

G‘PE ?\C\?\\\\\

”Mﬂmuunn\\m“

2-1/2" (min)

Digitally signed by Mi
Sheeley

DN: cn=Michael Sheeley

o=Sheeley Architects
ou=Sheeley Architect
email=mike@sheeleyd
om, c=US

Date: 2017.02.23 09:1

*

 eonsse,

SHEELEY §* EE

g K.

H

aa&ARoowss /,\@
W

N CORPORATED
FORT MYERS, FL33919
AA# 0002319

8200 COLLEGE PARKWAY SUITE 101

SHEELEY ARCHITECTS

PROJECT INFORMATION

|PROJECT NUMBER - #0000|

252
—_— = o™
g N = F |
LN = B2 —
Ll - = <
e o 2
[ o o
2S5 =S 2
— =28
E_.\TE
farar I =
2 0
—3 3 =T
I:g =
g
—_—=
==
—
=
=
= .
- c L3
ol T e |
= o
[mgm]
.Ecvzl
J— o —
[ [
 — [} ~
— = D_E
cocoy —
=0 o Z
IZ'::'Z
|l g W g
=Mm 1 =
e r~ o
CI . LM

JORAVIN BY| MS

|SHEET NUMBER|

CPOST

e,
Inc.,
rchitects.c

16 -05'00'

MNICHAEL K. SHEELEY, AIA
FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


COLLAR SPLICE

CARRIER BEAM

SCREW COUNT
PER ELEVATION DETAILS

COLLAR DETAIL:
NTS

i

4X4X.125" POST

CARRIER BEAM
SCREW COUNT
PER ELEVATION DETAILS
SCREW COUNT
PER ELEVATION DETAILS
(o]
Q
(o]
o (6) #14 x 3/4 TEK SCREW THROUGH
COLLAR AND BEAM EACH SIDE
(o]

(2) ROWS (6) #14 x 3/4 TEK SCREW
THROUGH COLLAR AND BEAM EACH
SIDE

aaa

4X4X.125" POST
—02
o 1 i}
4} HoLD | 2
') f L 2%
& ¢ | wow
}
| | |
' [=]
&£3 e
| o e i
=] o —_—
f g = B
2 T s
g 4} HoLD 4}HoLD
— 0 — | b 2 ——1 3 | a
E
COLLAR DETAIL: ° £
g

NTS

Qﬁw County

NN~

Reviewed for Code
Compliance
PRBD20170207106

Digitally signed by Michael
Sheeley

DN: cn=Michael Sheeley,
o=Sheeley Architects Inc.,
ou=Sheeley Architects Inc,,
email=mike@sheeleyarchit
ects.com, c=US

Date: 2017.02.23 09:10:31
-05'00'

(o]
o
o (5) #14 x 3/4 TEK SCREW THROUGH

COLLAR AND BEAM EACH SIDE

o

~ I E—

4]
¥ (2) ROWS (5) #14 x 314 TEK SCREW

THROUGH COLLAR AND BEAM EACH|

SIDE
N
\ POST PER PLAN

o

o

o

o (5) #14 x 3/4 TEK SCREW THROUGH
COLLAR AND BEAM EACH SIDE

(o]

AA# 0002318

FORT MYERS, FL33919

=
[SS)
=
=
[v=]
>
=T
=
o
[
=
[
—_
o
[ =)
J—
p— |
|}
o
=
s
[}
oa

PROJECT INFORMATION

|PROJECT NUMBER - #0000|

SR
—_— = o™
g N = F |
LN = B2 —
Ll - = <
e o 2
[ o o
S5=5
2=
E_.\TE
Il o
= ==
—3 3 =T
Eg =
[
o =
—_—=
==
—
=
=
= .
- c L3
ol T e |
= o
[mgm]
.Ecvzl
J— o —
[ [
 — [} ~
— = D_E
o = &
< 8 =
IZ_|—|:'Z
Ll g = BN
=Mm 1 =
e r~ o
CI . LM
JORAWN BY| [5

|SHEET NUMBER|

APOST

MNICHAEL K. SHEELEY, AIA
FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


COLLAR SPLICE

4X4X.125" POST

i,

\\\\\\iQ/ 40 Digitally signed by Michael
& S\ 4)

- %, Sheeley
SAYN %X .
DOUBLE CARRIER BEAM CARRIER BEAM § (/) M |C HAEL 2 DN. Cn=M|Chae| Sheeley,
\ ﬂ_‘ ’_ﬂ s ¢ ‘. Z o=Sheeley Architects Inc,,
N S x SHEELEY § * £ ou=Sheeley Architects Inc.,
/H | ”\ P ARDO10564 (/?g email=mike@sheeleyarchit
%(6\} ,\<<,§ ects.com, c=US
"2, N)
”f% 5\/? ?\ \2\ & Date: 2017.02.23 09:10:45
SCREW COUNT // \\\ ' {
PERELEV?\?IFE)E\JWDE(T):I,:; PER ELEVATION DETAILS lﬂﬂi”ﬂﬁn”ﬂﬁ;\\\ \ -05 OO
SCREW COUNT
PER ELEVATION DETAILS
S —
~Je
o o o
e
’L—O o o o
HL_O o O\
’L_o o o o THRU BOLT PER DETAIL
L o o
(e}
+e N
13- 3 13|
TYP. P
N (2) ROWS (6) #14 x 3/4 TEK SCREW
THROUGH COLLAR AND BEAM EACH
SIDE
COLLAR DETAIL \\
\ 4X4X.125" POST
<—2—°|
T 1
43
afHoLD *
— 25
5% | % - HOLD_I _[
&3 REF . h
| I
k2 9 = 3
T % % “j:,‘o _f
g ¥ 2
= -I£3
5 43Hold 4} HoLD =
— — 3 DR
3 off
8 Coller Lum]{\

COLLAR DETAIL:
NTS

.090" TYP

Reviewed for Code
Compliance
PRBD20170207106

oF.,

§*1 SHEELEY
%%..AR0010554 ‘; E

P ‘Q?\

&

P
0
L
E

AA# 0002318

a]
w
-
<
[
0
1

FORT MYERS, FL33919

8200 COLLEGE PARKWAY SUITE 101

0
14
<
>. r
Lo
o
Iz
-
PROJECT INFORMATION

|PROJECT NUMBER - #0000|

=9 — - o
—F L3 = 3
g N = F |
LN = B2 —
Ll - = <
e o 2
<t 9O o=
2S5 =S 2
— =28
u—l\_l'm

Il o0 —
= ==
—3 3 =T
Eg =
[

o =
—_—=

==

—

=

=

= .

- c L3
o B2
=

[mgm]

.Ecvzl

J— o —
[ [
 — [} ~
—_ = D_E
o = &
< 8 =
IZ_|—|:'Z
Ll g = BN
=Mm 1 =
e r~ o

JORAVIN BY| MS

|SHEET NUMBER|

B.POST

MNICHAEL K. SHEELEY, AIA
FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


THIS SCREEN ENCLOSURE WILL NOT ADVERSLEY AFFECT THE HOST STRUCTURE.

g;(ﬁ\\l!ﬂl]ﬂﬂliiﬂ“
*

\\\\\\
SR

\\
Sy

%
2
Uy,

BLDG DPMT:

W ‘uy,
S 90 Lo,
2%

> uAROO1 056‘},:&3
9

w1y

Sheeley

MICHAEL =¥ 2
K.
SHEELEY

SRED N

00099910 00W

\
COLLIER COUNTY

0 WIND ZONE: 150 MPH
4x4 POST
3x2 PB EXPOSURE: B
2H 22X 2R 2%2 1x2
N S of o) of 4x4 POST
o I G % G
2 22 |& S 2 g 3x2 PB
@ 4 qi 4 o A m)
_v_ 2%2 2%2 232 232 % 2x2 h 55 % ;Ol_ %
3 Tt |
= X|
N 2 QIQ oY
l—r) ¢
2x2 22 22 2x2 2x2 2x2 !
— 100 —= [ 8-2" —— [ -8 ——| = 100" —=—|
- 500" -
250" - 250" -—
2x8 SMB 2x8 SMB
2le b ks
2 E) [l
< 1 <
X x
1F 1 it

ALUMINUM NOTES:
1. ALL MEMBERS SHALL BE 6005-T5 ALLOY. ALL MEMBERS SHALL HAVE A MINIMUM !
WALL THICKNESS OF 040" )
2. ALLKICK PLATES SHALL HAVE MINIMUM THICKNESS OF 024
3. ALL DESIGNS HAVE BEEN BASED OFF OF A RATIONAL ANALYSIS, 3
4. ALUMINUM SHALL NOT COME INTO CONTACT WITH STEEL OR PT LUMBER
WITHOUT AN APPROVED BARRIER TO PREVENT GALVANIC ACTION. N
5. ALL SPLICED MEMBERS SHALL BE STITCHED WITH NO LESS THAN #10 SMS 6" s
FROM THE ENDS AND 24" 0.C. THEREAFTER,
FRAMI NG PLAN: 6. VINYL AND ACRYLIC PANELS SHALL BE REMOVED WITHIN THE ISSUANCE OF A 6

HURRICANE WARNING FOR THE AREA. AN EASILY READABLE DECAL SHALL BE
PLACED IN A CONSPICUOUS LOCATION STATING AS SUCH.

SCALE: 3/32" = 1'-0"

FASTENING NOTES:

ALL LAG BOLTS SHALL CONFORM TO STAINLESS STEEL WITH A FLAT WASHER,
OR GALVANIZED FOR SPECIFIC TREATMENT OF USE WITH PT LUMBER.

HEX BOLTS SHALL CONFORM TO ASTM A325 STANDARDS AND AISC
REQUIREMENTS, AND SHALL HAVE FLAT WASHERS.

ALL CONCRETE ANCHORS SHALL HAVE AN APPROVED FLA PRODUCT APPROVAL
NUMBER.

ALL METAL ON THE JOB SHALL BE HOT DIP GALVANIZED.

ALL LAG BOLTS SHALL HAVE A MINIMUM EMBEDMENT OF 2" MINIMUM FOR 1/4"
DIAMETER, 3" MINIMUM FOR 3/8" DIAMETER, AND 4" MINIMUM FOR 1/2"DIAMETER.
ALL SMS FASTENERS SHALL HAVE A MINIMUM SPACING OF 4 THREAD
DIAMETERS AND A MINIMUM EDGE DISTANCE OF 2 THREAD DIAMETERS.

Reviewed for Code
Compliance
PRBD20170207106

GENERAL NOTES:

1

ALL WORK ON THIS PROJECT SHALL BE PERFORMED BY A LICENSED
CONTRACTOR OR OWNER BUILDER, WHO WOULD ACCEPT THE SAME
RESPONSIBILITIES AND IS EXPECTED TO HAVE THE SAME KNOWLEDGE AND
EXPERIENCE OF A LICENSED CONTRACTOR.

ALL DIMENSIONS FOR THIS PROJECT HAVE BEEN PROVIDED BY THE
CONTRACTOR AND IT IS THE CONTRACTORS RESPONSIBILITY TO VERIFY ANY
ERRORS AND REPORT THEM BACK TO THE ENGINEER PRIOR TO CONSTRUCTION.
ANY SPECIFIC DETAILS NOT SHOWN ON THIS DRAWINGS SHALL BE IN
'CONFORMANCE WITH THE ALUMINUM ASSOCIATION MANUAL OF FLORIDA
CURRENT EDITION. CONTACT ENGINEER FOR ANY QUESTION PRIOR TO
COMMENCING WORK IF THERE ARE ADDITIONAL QUESTIONS.

'WHERE SHOWN, ALL CONCRETE SHALL BE 2,500 PSI MINIMUM WITH FIBER
REINFORCING AND REBAR SHALL HAVE 2" COVER ALL SIDES MINIMUM.
FOUNDATIONS SHALL BEAR ON CLEAN COMPACTED FILL, FREE OF ORGANIC
MATERIAL, AND COMPACTED TO 95% MODIFIED PROCTOR DENSITY.

Digitally signed by Mich

DN: cn=Michael Sheeley
o=Sheeley Architects Ing
ou=Sheeley Architects In
email=mike@sheeleyarc
/\é‘RC&\\\\\*? m, c=US

o Date: 2017.02.23 09:11:0

|<— 13'-0"

OF £,
QR4
&V”w ""%9

97 MICHAEL 7
[l
i SHEELEY
"-.'AROOIOSSA}.-"
. 4
oot

8200 COLLEGE PARKWAY SUITRIDI
FORT MYERS, FL33919
AA# 0002318

SHEELEY ARCHITEGTS
INCORPORAT&D

PROJECT INFORMATION

|PROJECT NUMBER - #0000|

LAGOMAR LOT 40
9422 LAGOMAR CT
NAPLES FLORIDA 34114

IPROJECT ADDRESS]

FOUNTAIN POOLS
a70a Corporation Cir.
Fort Myers, FL 33905

=|5| [CONTRACTOR|
“I"| FABRITECH

1933

M

|SHEET NUMBER|

MNICHAEL K. SHEELEY, AIA
FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


Concrete Anchor Specifications

Fastener Min. Embedment Allowable Shear Load Allowable Tension Load Load Material Substrate Material Fla. Product Approval
3/16" @ TITEN Screw 1-1/4" 220# 160# Carbon Steel Hollow or Grout Filled CMU 2355.1
3/16" @ TITEN Screw 1-1/4" 255# 305# Carbon Steel Concrete 2355.1
3/16" @ TITEN Screw 1-1/4" 784# 784# Stainless Steel Hollow or Grout Filled CMU 2355.1
1/4" @ TITEN Screw 1-1/4" 300# 165# Carbon Steel Hollow or Grout Filled CMU 2355.1
1/4" @ TITEN Screw 1-1/4" 400# 365# Carbon Steel Concrete 2355.1
1/4" @ TITEN Screw 1-1/4" 124# 137# Stainless Steel Hollow or Grout Filled CMU 2355.1
3/8" @ TITEN HDScrew 2-3/4" 870# 480# Carbon Steel Grouted CMU 11506.7
1/2" @ TITEN HDScrew 3-1/2" 1,385# 690# Carbon Steel Grouted CMU 11506.7
5/8" @ TITEN HDScrew 4-1/2" 2,085# 1,060# Carbon Steel Grouted CMU 11506.7
3/4" @ TITEN HDScrew 5-1/2" 3,000# 1,600# Carbon Steel Grouted CMU 11506.7

Notes:

Digitally signed by Michael

1.

2.
3.
4.

Stainless steel fasteners may only be used when specifically stated on the detail drawings.

Design values in masonry substrate refer to face shell embedment only.
Simpson fasteners may not be installed within 1-1/4" of mortar joint, when installed into masonry
All fasteners design values into concrete substrate are based on 3,000 psi concrete strength..

O
N

K. :
= 1 SHEELEY
27 AR0010564 £,

Sheeley

~ DN:cn=Michael Sheeley,
2 o=Sheeley Architects Inc,,

: x £ ou=Sheeley Architects Inc,,
S email=mike@sheeleyarchit
3 ects.com, c=US

DESIGN PARAMETERS:

BASIC_WIND SPEED:
[X]150 MPH ULTIMATE 116MPH NOMINAL

APPLICABLE CODES:
BUILDING CODES = FLORIDA BUILDING CODES, BUILDING 2014
RESIDENTIAL 2014, & EXISTING BUILDING 2014

BUILDING CONSTRUCTION TYPE:

I TYPE 1-A [ TYPE 1I-B O TYPE IV
O TvrE 1-B I TYPE -A I TYPE v-A
] TYPE 1I-A O TYPE -B X] TYPE V-B
EXPOSURE CATAGORY:
Oa Oc
Xls Clo
METHOD OF DESIGN:
DESIGNED PURSUANT TO FLORIDA BUILDING CODE CHAP. 16, BUILDING 2014 WINDBORNE DEBRIS REGION:
WITH ASCE7—10 AND ALUMINUM ASSOCIATION OF FLORIDA 2012..
IMPORTANCE FACTOR: Xl ¥es
[X]0.77 (BUILDING CATEGORY 1) [J11.15 (BUILDING CATEGORY IIl) XIN/A

[ IMPACT RESISTANT SHUTTERS
[JIMPACT RESISTANT STORM PANELS
[C]IMPACT RESISTANT COMBINATION
[JGROUP H — HAZARDOUS OF GLASS & STORM PANELS

[CJGROUP | — INSTITUTIONAL ()
C]GROUP M — MERCANTILE INTERNAL PRESSURE COEFFICIENTS: Collier C

[]0.00 (OPEN)
%g:gﬂ: : N :52::::;"" []+0.18, —0.18 (ENCLOSED)

[X] +0.55, —0.55, (PARTIALLY ENCLOSED)

[J1.00 (BUILDING CATEGORY Ii) [J1.15 (BUILDING CATEGORY IV)
BUILDING OCCUPANCY CLASSIFICATION:
[CJGROUP A — ASSEMBLY
[JGROUP B — BUSINESS
[CJGROUP D — DAY CARE CENTER
[CJGROUP E — EDUCATIONAL
[CJGROUP F — FACTORY INDUSTRIAL

Reviewed for Code
Compliance
PRBD20170207106

u"o'\ S
P SISO NS
Piasee e SRS

Date: 2017.02.23 09:11:16
K7L S AN nA'
Al'uMiNud STRUCTBRAL MEMBERS

HOLLOW SECTIONS

2" x 2" x 0.046”
--3"x 2" x 0.050”
S —— 2" x3"x0.050”
U ——— 2" x3"x0.070"
R — 2" x 4" x 0.050”
2"x5"x0.050"

OPEN BACK SECTIONS

1 %2 1"x 2" x 0.040”
130 31 mmmmmm e e e e 1"x 3" x 0.045"
SNAP SECTIONS
2 x 2 Snap:----m=msmmem e 2" x 2" x 0.045"
2x 3 Snap: - -2"x 3" x0.050”
2 x4 Snap: 2"x 4"x0.045"
SELF MATING (SMB)

2 x4 SMB:------eeem e 2"x4"x0.044" x 0.100”
PR 1LY |- 2"%5"x0.050"x0.118"

2"x6"x0.050"x0.120"
2"x7"x0.057"x0.120"
2"x8"x0.072"x0.224"
2"x9"x0.072" x0.224"
2"x10"x0.092"x 0.374"

SHEELEY }* EE
AR0010564 5,

 eonsse,

el
o
g.

=2 8
Y\ A
<

SHEELEY ARCHITECTS
I NC ORPORATED
FORT MYERS, FL33919

AA# 0002319

8200 COLLEGE PARKWAY SUITE 101

PROJECT INFORMATION

|PROJECT NUMBER - #0000|

252
—_— = o™
g N = F |
LN = B2 —
Ll - = <
e o 2
OO =< 00 o=
2S5 =S 2
— =28
E_.\TE
Il o
= ==
—3 3 =T
I:g =
g
—_—=
==
—
=
=
= .
- c L3
ol T e |
= o
S 83
=
J— o —
[ [
 — [} ~
— = D_E
o = &
< 8 =
IZ_|—|:'Z
Ll g = BN
=Mm 1 =
e r~ o
CI . LM
JORAWN BY| [5
CHECKED BY|
[SHEET NUMBER]
-_—

MNICHAEL K. SHEELEY, AIA
FLORIDA REG. #10564



AutoCAD SHX Text
DESIGN PARAMETERS:

AutoCAD SHX Text
GROUP S - STORAGE

AutoCAD SHX Text
GROUP R - RESIDENTIAL

AutoCAD SHX Text
GROUP M - MERCANTILE

AutoCAD SHX Text
GROUP I - INSTITUTIONAL

AutoCAD SHX Text
GROUP H - HAZARDOUS

AutoCAD SHX Text
1.15 (BUILDING CATEGORY IV)

AutoCAD SHX Text
1.15 (BUILDING CATEGORY III)

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
TYPE II-B

AutoCAD SHX Text
TYPE III-A

AutoCAD SHX Text
TYPE III-B

AutoCAD SHX Text
TYPE II-A

AutoCAD SHX Text
TYPE I-B

AutoCAD SHX Text
TYPE I-A

AutoCAD SHX Text
BUILDING CONSTRUCTION TYPE:

AutoCAD SHX Text
GROUP E - EDUCATIONAL

AutoCAD SHX Text
GROUP B - BUSINESS

AutoCAD SHX Text
GROUP A - ASSEMBLY

AutoCAD SHX Text
X

AutoCAD SHX Text
IMPORTANCE FACTOR: 

AutoCAD SHX Text
GROUP F - FACTORY INDUSTRIAL

AutoCAD SHX Text
GROUP D - DAY CARE CENTER

AutoCAD SHX Text
BUILDING OCCUPANCY CLASSIFICATION:

AutoCAD SHX Text
1.00 (BUILDING CATEGORY II)

AutoCAD SHX Text
0.77 (BUILDING CATEGORY I)

AutoCAD SHX Text
+0.55, -0.55, (PARTIALLY ENCLOSED)

AutoCAD SHX Text
INTERNAL PRESSURE COEFFICIENTS:

AutoCAD SHX Text
+0.18, -0.18 (ENCLOSED)

AutoCAD SHX Text
0.00 (OPEN)

AutoCAD SHX Text
X

AutoCAD SHX Text
IMPACT RESISTANT SHUTTERS

AutoCAD SHX Text
N/A

AutoCAD SHX Text
YES

AutoCAD SHX Text
NO

AutoCAD SHX Text
WINDBORNE DEBRIS REGION:

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
EXPOSURE CATAGORY:

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
APPLICABLE CODES:

AutoCAD SHX Text
BUILDING CODES = FLORIDA BUILDING CODES, BUILDING 2014

AutoCAD SHX Text
DESIGNED PURSUANT TO FLORIDA BUILDING CODE CHAP. 16, BUILDING 2014

AutoCAD SHX Text
METHOD OF DESIGN:

AutoCAD SHX Text
IMPACT RESISTANT STORM PANELS

AutoCAD SHX Text
IMPACT RESISTANT COMBINATION

AutoCAD SHX Text
OF GLASS & STORM PANELS

AutoCAD SHX Text
TYPE IV

AutoCAD SHX Text
TYPE V-A

AutoCAD SHX Text
TYPE V-B

AutoCAD SHX Text
WITH ASCE7-10 AND ALUMINUM ASSOCIATION OF FLORIDA 2012..

AutoCAD SHX Text
X

AutoCAD SHX Text
150 MPH ULTIMATE 116MPH NOMINAL

AutoCAD SHX Text
X

AutoCAD SHX Text
BASIC WIND SPEED: 

AutoCAD SHX Text
RESIDENTIAL 2014, & EXISTING BUILDING 2014

AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


OPTIONAL OPTIONAL OPTIONAL
T | e
5" & 7"2" WIDE L e J
Z-BRACKET GUTTER BRACKET

3/8" LAG W/ 3/4" FARRELL

2" WIDE EXTRUDED GUTTER BRACES

3/16" ALUMINUM

,"_m S =
REQUIRED AT ALL BEAM OR PURLIN " GUSSET PLATE 0”" R I R
ATTACHMENT POINTS w/ (2) #12 X 3/4" 2"x _PURLINS (SEE S-2 FOR SIZE) his % &3 g
SMS INTO GUTTER LIP ATTACHED TO BEAM w/ MIN (4) #10 x B #14 SMS E¢n o=
14/2" SMS / TC> o=
Ty=e =
[}
o ¢ 0. EE=
1"x2' X 0.045" OPEN BACK W/ (2) \ QO E: E
#14X 2-112 @AZN_?/IEE é (212#(1)2? (2) 3/8" x 2" LAG SCREW ®\ (g_ E =
[
o) < =
< \ 0 =
o\ =
| e o o \\ %Z &
BEAM oo ] -
©0 PROJECT INFORMATION
|PROJECT NUMBER - #0000]
|0
o O D — <+ o3
2'x2"x 1/8" X ALUMINUM CLIP ca ; = 5B
W/ (2) #12x 3/4" SMS INTO THE HOST STRUCTURE SHALL HAVE LI = 2 —
BEAM ON EA SIDE AT LEAST A 2"X4" FASCIA AND ROOF é ; % EE
TRUSS SYSTEM. CONTRACTOR <t o =
2"X2"X0.062" RECEIVING SHALL VERIFY THIS AND IF SMALLER a= <t o
CHANNEL W/ (2) #10X 3/4" - CONTRACTOR SHALL BRING NOTES: == ; for
EA SIDE TO COVER STRUCTURE UP TO A 2'X4" F/IAS“CIA 1."N" NUMBER OF SCREWS IN ANY DIRECTION. —_ E o~ o2
EXPOSED BEAM v ESS THAN A0 2. TOTAL NUMBER OF SCREWS PER JOINTEQUALS 4 | 53 T &5 =5
TIMES "B". e =
3. PLATE WIDTH SHALL BE DETERMINED FROM = E =
TYPICAL GUTTER BRACE & BEAM ATTACHMENT DETAIL ?NSULSES%FT?:EQ“TAEA;NI\?A%I:EﬁmggﬁffgrlaREE%ERN AL =2 =
SCALE:N.TS. — — — 5. INTERNAL SCREWS FOR PURLIN CONNECTION =
BEAM B N S1 S2 MAY BE INCLUDED IN TOTAL NUMBER OF SCREWS. =
- - 6. GABLE SPLICE WILL HAVE THE SAME PATTERN. T 2o
/2" X1/16* PLATE (ci‘?s‘;t\zc :(NE-SCREWS 2X4 12 4 3/4 1-1/2 'ﬁ =
(TOP OR BOTTOM) @ " " o &2
il 2X5 12 4 3/4 1-1/2 . = 2
" X 2" EDGE BEAM " " [ i
(UNLESS OTHERWISE 2X6 16 5 1 1-112 —— E_ %)
SHOWN ON SHEET §-2) " " (55 £ &
2X7 20 6 1 1 = o B
'URLIN =
(2] #10 X3" SMS 2X8 24 7 1" 1-1/4" = E E =
. A
2 FASTENED TO COLUMN CONNECTING EDGE. 2X9 2 | 7 [ 1 | 1 e aiilian
NITH (2) #10 X 1-1/2"SMS _A BEAM TO PURLIN peme W
INTO SCREW BOSSES FOR 2X10 28 8 1" 1-1/8" CHECKED BY|
SMB OR SNAP COLUMN 00825y, Digitally signed
\\\\\\ Q/ O Fé /III// g y g SHEET NUMBER|
- SRR O 0% Sheeley S
CQLUMN_,/ 1" X 2" SNAP E % ]
TYPICAL BEAM SPLICE Qﬁgs TDETAL 7; DN: cn=Michagl Shégley,
SCAENES. ¢ . 2 o=Sheeley Architectsinc.
OTE: ARECEIVING CHANNEL (1/16" THICKNESS) S xi K' 5 * 2 ou=Sheeley Ar¢hitectste—
VITH (4) #10X 3/4" SMS AT EACH CONNECTION MAY s SHEELEY ¢ £ . . [
E USED IN PLACE OF THE (2) #10 X 3" SCREW BOSS = 0 AR0010564 <3 email=mike@sheeleyarchit
ONNECTION, " 200 no",\<<,§ ects.com, c=US
Collier Coun 2, \S\) \e\ \\\ D . e 11.
Y SR ate: 2017.02.23 09:11:31
TYPICAL SLOPED OR FLAT PURLIN CONNECTION DETAIL %@ é\'? A \\\

4,

!
go?i«*
=2 9
AN o
//}‘57 S
»

ot S,
=z

O

I

>

m

—

)

SHEELEY | EE
AR0010554"

SCALE:N.T.S.

Reviewed for Code

1 1
”Mﬂﬂﬂnnunn\\“m -05'00

Compliance
PRBD20170207106

MNICHAEL K. SHEELEY, AIA

FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


MINIMUM # SCREWS SMB BEAM (MORE MAY BE USED IF SPACING

BEAM #SCREws  REQUIREMENTS ARE MET)
27X 4" SMB 4
2"X 5" SMB 4
2"X 6" SMB 6
2"X 7" SMB 6
2"X 8" SMB 6
2"X 9" SMB 10
2"X 10" SMB 12
~
~
~
~
~
FOR SLOPED BEAMS, -
MAINTAIN Aé_l; gé;givg Es:’\/;cme FROM 7 SELFMATING BEAM
- SHALL BE NOTCHED
A {06250 FOR UPRIGHT -
] O od . 11:250 f
2 x 2" EAVE RAIL SECTION—_ 81 12500 -
(UNLESS OTHERWISE ON SHEET oo/ -
S-2) - ATTACHED TO BEAM w/ (4) 1 - oo ~
1/2" SMS INTO SCREW BOSS -
ooy -~
1"X 2" OPEN BACK EAVE RAIL
ATTACHED TO UPRIGHT w/ (2) v
#10x 1 1/2" SMS & INTO SCREW
BOSS w/ #10 X 11/2" SMS 24"
cic /—4" (MIN) UPRIGHT
SEE # OF #10 x 3/4" SCREWS A
REQUIRED IN TABLE ABOVE
YA
TYPICAL CONNECTION - ALL WIND ZONES
SCALE:N.TS.
m\\\\n\\uuuml;m .. . .
\\\\ %/ [ ", Digitally signed by Michael
S A G eeseenoog b On%, Sheeley
\/\ ° /9 2

s % SHEELEY
e ARoowo564

2
2
=
2
2

K. s 2
s
S
N
S
S

apggggpp ™

DN: cn=Michael Sheeley,
o=Sheeley Architects Inc.,
ou=Sheeley Architects Inc.,
email=mike@sheeleyarchitec
ts.com, c=US

Date: 2017.02.23 09:11:46
-05'00'

(2) #10X4" SMS INTO SCREW BOSSES
EDGE MEMBER OR FOR EDGE MEMBERS

— f _______ —T : 7 :
| /
__________ ' (o]}
I y © o)
o
o |
o
Oo N 0.0625" 6063-T3 FLAT PLATE W/
(8)#10X3/4" SMS

(MIN. 1/2" EDGE DISTANCE)

<
__I_\/\_l._
TYPICAL ROOF BRACING CONNECTION DETAIL
SCALE: N.TS.

HINGE LOCATION~___ |

"
2"x 2" EXTRUSION || —2"x 2" EXTRUSION

\‘\ DOOR L—

HINGE LOCATION ~

\m

HINGE LOCATION

NOTES:

1. HINGES SHALL BE ATTACHED TO STRUCTURE W/ (4) #10 x 5/8" SMS MINIMUM.

2. DOOR SHALL BE ATTACHED TO ENCLOSURE W/ (2) HINGES MINIMUM.

3. HINGES SHALL BE ATTACHED TO DOOR W/ (4) #10 x 5/8" SMS. FASTEN A 1" x 2" x 0.044"
TO UPRIGHT W/ #12 x 1" SMS @ 12" O.C. AND WITHIN 3" FROM END OF THE UPRIGHT.

TYPICAL SCREEN DOOR CONNECTION DETAIL

Reviewed for Code

SCALE: N.T.S. Compliance
PRBD20170207106

 eonsse,

AR0010564 7,

suen @%\

FORT MYERS, FL33919
AA# 0002319

SHEELEY ARCHITECTS
INCORPORATED

8200 COLLEGE PARKWAY SUITE 101

PROJECT INFORMATION

|PROJECT NUMBER - #0000|

9422 LAGOMAR CT

LAGOMAR LOT 40
NAPLES FLORIDA 34114

IPROJECT ADDRESS]

FOUNTAIN POOLS

a70a Corporation Cir.
Fort Myers, FL 33905

|CONTRACTOR|
FABRITECH

e
o>
g

=2 19
% 8h B i
%v;“'g

SHEELEY | 55

1933

M

|SHEET NUMBER|

MNICHAEL K. SHEELEY, AIA
FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


REQ. ¥ 0010564
OPTION #1-(2) #10 X 3/4" SMS EA. SIDE o
OPTION#2-(1) 1/2' CAP SCREWw/NYLONJAM \ | Fxg.o. (
NUT OR, JAM NUT w/ THREAD LOCK ~3,
g i K. i 8
4 /—PRIMARY 2'X 2" X 1/8" %*i SHEELEY }* 5‘
1/8" X 2" X 2" ANGLE CLIP w/ ANGLE W/ (2) #10 X 3/4" EA. %, AR0010564 5
OPTION #1 OPTION #2 % R
3/8" X 2" EMBEDMENT ° o SIDE %w@&
MASONRY ANCHOR o 200 2
N0 — o3 o
(4)#10 x 1-1/2" SMS INTO PAVERS By = =g
SCREW BOSSES THINSET OR ADHESIVE—\l\\ | 125 MIN CONC ANCHOR 8 FE 3=
EMBEDMENT Ecm = S
— e —— < - E/f:(:.:
< < a7 | = <1 ——2s00psiconcreTE witH i =
_____ n ] WHEN PAVERS DO NOT APPLY REDUCED N0 v WELDED WIRE OR FIBERMESH poz= =
==== = e MASONRY ANCHOR LENGTHS BY THICKNESS OF SIDE VIEW ’ 8" NOMINAL THICKENED EDGE ( o = =
PAVERS -2" EMBEDMENT STILL APPLIES ) SLAB |
2'X2" OR 2'X3" MEMBER ALUMINUM INTERNAL OR >
EXTERNAL RECEIVING CHANNEL We =
W/ (4) #10 X 3/4" INTO GIRT OR NOMINAL 3-1/2" SLAB 2500 PS| I 0 =
UPRIGHT OR BEAM -SNAP PURLIVAND @ 11 X 3% INTO (2) 318" x 2" EMBEDDED - CONCWELDED WIRE MESH OR w' =
OR SELF MATING OR ANGLE CLIPS MAY BE USED MASONRY ANCHOR, LENGTH MAY [ 3—; Z
HOLLOW VARY DUE TO PAVER THICKNESS . -
' UPRIGHTTYP PROJECT INFORMATION
! 600 |PROJECT NUMBER - #0000]
TYPICAL PURLIN OR GIRT TO BEAM OR POST DETAL [ A h— " 2" OPEN BACK
SCALE:NTS. PAVERS | | | | ANCHORED TO PAVERS w/ o < o
" o T 1/4"x 2' MASONRY ANGHOR - —F B =
71/2" (8" NOMINAL
SL(AB MlNlMUM)\\ 6" MAX EACH SIDE OF POST As ==
AND 24" 0.C. MAX, EMBED IN L= = <
OR SOLID CMU oo O
STENWALL PAVER ONLY o=05 =
FRONT VIEW o==S
<5 o~ =
— =< ™~ ca
cCoa— =< g
TYPICAL 2" x 4" OR LARGER POST OR SMB TO CONCRETE DECK W/WO PAVER DETAILS [
—3 3 =T
SCALE: NT.S. =25 =
0 =
(8) #14 X 3/4 SMS —=
=
OPTION #1 - A-36 STEEL CLIP =
[
D OUBLE COMPRESSION MAY BE PLACED ON TOP OF = oo
1/8" PLATE ON 45° ANGLE RESSION DECK W/ (2) 3/8" X 3" SLEEVE =
ANCHOR = =3
B o
wqn 7 4 4 —_— o
7412 (8 NOMNAD — [ ™ “v = @
_____ SLAB MINIMUM Sl iy A 0.125" STAINLESS S 8 4
OR SOLID CMU AT T : STEEL CABLE Iy = 5
ADJUSTABLE EYE BOLT STEMWALL OPTION #1 == S5 =
FOR CABLE TENSION 31/2" (4" NOMINAL) S == o —
SLAB MINIMUM si* . S £
ORSOLDCMU T4 : 2500 PSICONCRETE | 3 o L3 o2
STEMWALL 4 e
0.125" STAINLESS not y 2" WITH WELDED WIRE IORAVIBY] 5
3/8'3 X 3" MASONRY | OR FIBERMESH Damen W
ERIMETER FRAMING e STEEL CABLE ANCHOR \\\\\\MﬂﬂﬁmﬁN #2 Q ) jM
2 v Uy, eVt ned-by-Michael—
71/2" (8" NOMINAL) M \\\ ;, A Iﬂl@/ yDéII:-g ISHEETNONBER |
— _ ., Sheeley
SLAB MINIMUM b NG S ,\ /f} 2 .
OR SOLID CMU a PR zsopsiconcrere $ O MICHAEL 07% DN: cn=Michagl Sh
TYPICAL CABLE CONNECTION AT CORNER STEMWALL : WITHWELDEDWREQR & %" 2 o=Sheeley A t |
= S 3 = 0 eeley Arcpite nc
SCALE:N.TS. / OPTION #3 FIBERMESH s K. ‘% £ ou=Sheel
1-1/2" X 5-1/2" ALUMINUM STRAP s *: SHEELEY * = ou=Sheeley Arhitecttre—
W/ (2) 3/8'3 X 3" MASONRY R S, S i
n ANCHOR. SPACING PER MANUF. 2 2% AR0010564 & (/75 email=mike@s 1ee|eyarChlt
o 2}2} n,<q§ ects.com, c=U{
Reved o Cae TYPICAL CABLE TO FOUNDAf NECH FAIL Date: 2017.02.23 09:12:01
ompliance
PRED0170207106 SCALE:N.T.S. /0// I/MM “\“\\\\\\ ~ O 5 ro Ou
”ﬂﬂﬂlun““ MICHAEL K. SHEELEY, AIA/
FLORIDA REG. #10564



AutoCAD SHX Text
MICHAEL K. SHEELEY

AutoCAD SHX Text
REG. # 0010564

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
O

AutoCAD SHX Text
O

AutoCAD SHX Text
MICHAEL 

AutoCAD SHX Text
K.

AutoCAD SHX Text
SHEELEY

AutoCAD SHX Text
AR0010564

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
L

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
I

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
MICHAEL K. SHEELEY, AIA

AutoCAD SHX Text
   FLORIDA  REG. #10564

makerbyoreus
Rectangle

makerbyoreus
Text Box
Reviewed for Code Compliance
PRBD20170207106

makerbyoreus
Image


	Sheeley Fabritech-POST
	Sheets and Views
	POST


	Sheeley Fabritech-POST2
	Sheets and Views
	POST2


	Sheeley Fabritech-POST3
	Sheets and Views
	POST3


	Sheeley Fabritech-S-1
	Sheets and Views
	S-1


	Sheeley Fabritech-S-2
	Sheets and Views
	S-2


	Sheeley Fabritech-S-3
	Sheets and Views
	S-3


	Sheeley Fabritech-S-4
	Sheets and Views
	S-4


	Sheeley Fabritech-S-5
	Sheets and Views
	S-5



		2017-02-23T09:10:16-0500
	Michael Sheeley


		2017-02-23T09:10:31-0500
	Michael Sheeley


		2017-02-23T09:10:45-0500
	Michael Sheeley


		2017-02-23T09:11:00-0500
	Michael Sheeley


		2017-02-23T09:11:16-0500
	Michael Sheeley


		2017-02-23T09:11:31-0500
	Michael Sheeley


		2017-02-23T09:11:46-0500
	Michael Sheeley


		2017-02-23T09:12:01-0500
	Michael Sheeley




